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27. WG ¥ e Wiaed a7l oft YeI uRere Bt et aiferd giAereees 1 aof wied
39 A 1 qHA T | 5x1=5

“Roadways still have an edge over railways in India.” Support the statement
with arguments.

98, ‘'‘wiedd & foU TSifass el 1 BT 3TE9s I g1 39 HUA 1 S0l ged
faveryor FifeT | : 5x1=5

“Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

29, T @I A, B 31 C A % f&T T T Wer-AmiEs (T8 9 W), H ifed fe
T ¥ T @ FrEfaiEd SR S EEEa 9 Teeie 3R S E 9@ AW
grfas | i 7E Wi w fafe 3x1=3

A. T T W gl e fiet Asel ¥ g fw o
B. 9% T S YHEEN AT A9E T ¥ g B

C. &% WM el YRdTg T HiE 1 A g7 41

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :

A.  The place where cotton mill workers organised Satyagraha.
B. The place related to the calling off the Non-Cooperation Movement.

C. The place where the Indian National Congress Session was held.
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29.1) SR AH e, el gt e e weigti 3 qeame fpa o
(29.2)  THEAW ST W1 919 A § S I % A e
(29.3)  femrr 1920 ¥ wRdg vt i = AT el gom o1 ?
Note :  Thefollowing questions are for the Visually Impaired Candidates only
in lieu of Q.No. 29 :
(29.1) Name the city where cotton mill workers organised Satyagraha.
(29.2) Name the place related to the calling off the Non-Cooperation
Movement.
(29.3) Where was the Indian National Congress Session held in
December 1920 ?
30. R % e T IS YE-aEfey (T 11 R), ¥ Frfafed & suge fasi @
T IR 37k 19 fafew : 3x1=3
A A9 &7 - femeg

B. el 3 39 g9 - faer
C. ¥9E Tl U - Hife

On the given political outline map of India (on page 11), locate and label the
following with appropriate symbols :

A.  Oil Field - Digboi

B.  TIron and Steel Plant - Bhilai

C.  Major Sea Port - Kochi

Fe:  refated v e gheai wdeniar & AT TN 0 F W |WE
30.1)  femelE o & 5 T g ¥
(30.2)  SH U= 1 TH feifan, <@ fied wer @i Tom wo feom 3
(30.3) W%Tﬁazmﬁuawﬁafwﬁmwﬁwaﬂwm|
Note :  The following questions are for the Visually Impaired Candidates only
- in lieu of Q.No. 30 :
(30.1) In which state is Digboi oil field located ?
(30.2) Name the state where Bhilai Iron and Steel Plant is located.
(30.3) Name the Southernmost major sea port located on the eastern
coast of India.
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The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1to 8 are Very Short Answer Questions. Each question

carries 1 mark.

Questions from serial number 9to 20 are 3 marks questions. Answers of these questions
should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions. Answers of these

questions should not exceed 100 words each.

Question number 29 and 30 are map questions of 3 marks each from History and
Geography both. After completion, attach the maps inside your answer-book.
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1/ SeRl 1871 H 99a § §U U GURIE | fheeh! S =51 gy sifvd frar mar ar? 1
j Sterar

1868 % Shicd Raree (fagri =1 fadie) &1 qe1 2w # o412

Who was proclaimed German Emperor in a ceremony held at Versailles in
January 1871 ?

OR
What was the main aim of the Scholar Revolt of 1868 ?

TR T wife’ TR 9ER fHEE % fau aver §2 il

How are ‘Gobar gas plants’ beneficial to the farmers ?

3. SEUEH FHEE] I BT T R 37 &5 3 7l enfyd vl § R ss g9 1
e T HEEA 9w e §2
Why do MNCs set up their offices and factories in those regions where they get
cheap labour and other resources ?

4. IS HTIRT SR STHHT I HTE &7 TEAE TE 7, ARG S iR % erta 1
o€ THHM 1 WU o ToIT IYsTRT =ATaTerd S Hehall § ?

If any damage is done to a consumer by a trader, under which consumer right

one can move to consumer court to get compensation.

5. TAME WRl IR TSHIdS Sal § Uk 3Tl TR i | 1
Distinguish between pressure groups and political parties by stating any one
point of distinction.

6. WA 7 Jggad JUTCH I Fl ST ? 1

Why did India adopt multi-party system ?

7. o fomm & < fea wEl % W fafew Yt 1s=1

Name any two sectional interest groups.
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8. UMY YR H H0 o =i Sl % R BT Hed AR B U a4 ey 1
g =it | :

Prove with an argument that there is a great need to expand formal sources of
credit in rural India.

9. ISR H SuiiS 1 qRan % fag fam ok fafee w5 ewsa e ¥ T
HeF & AR SeUsd | 3x1=3

“Rules and regulations are required for the protection of the consumers in the
market place.” Justify the statement with arguments.

10. SHfed <19 WHE A1 8 2 7! 1 JOITl 7 90 BT | 1+2=3

What are public interest pressure groups ? Describe their functioning.

11. & UrHifass a9 7 ity €2 ¢ Sty qeifas et @ ardn o e
& fT 1w 9l 1 Soerg i | 1+2=3

What is meant by regional political party ? State the conditions required to be
recognised as a ‘regional political party’.

12. 9G¥ AENfie foem & RO 3ol wateoie Frfetor 51 59 50 & o 5
o 3T e | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by

the industrial development in India.

13. "QU N H 1 % Heft THR BT ST 9G @R | oAl I o= 3R oAl F FE F
T i A1 o e S 1 QO SAovRdl € | 59 Seeid S  FEm
% fau = 99 S gase ik 3% we Hifsw | 3x1=3
‘Consumption of energy in all forms has been rising all over the country. There

is an urgent need to develop a sustainable path of energy development and
energy saving’. Suggest and explain any three measures to solve this burning

problem.

14. = HIE % W SHR W I I IAhd BT T Th gaX & F4 oy £2

-
Classify industries on the basis of source of raw material. How are they different
from each other ? 14+2=8
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18.

" oTgH W ST HSGR kT HeleHT TRt % foemi ofk wR % SR F oret e S
SR ot "' qeh T HUA HT YR A |

“The plantation workers in Assam had their own understanding of Mahatma
Gandhi and the notion of Swaraj”. Support the statement with arguments.

T | el ST % SRH R YR 1 vy SR fman e a1 T 7=
fersroasi @1 T FART 1+2=3

What type of flag was designed during the ‘Swadeshi Movement’ in Bengal ?
Explain its main features.

TR TSR fafererarst o wmee ey s s mmwmmaﬁ 3
Tfee wifem

“Democracy accommodates social diversities. Support the statement with
examples.

SETEXUT © Y TR L 5 agiegia Heafwy o1qy Seare) 1 voR it a0 9 8
T E

Explain by giving examples that Multinational Corporations (MNCs) are
spreading their productions in different ways.

m%mmﬁmww%f TH! Ofed 9 FUH H TEifad 3
I

‘Credit has its own unique role for development’. Justify the statement with
arguments.

" 1830 1 <X AW F A Al HoTgal Aokt e’ | T Whed He F yfie

Fiferg | 3x1=3
xeren

& = T e ant sl % s I8 § fraanEl F fau wvwe fog

g’ | ol Afed HUA HI g wifeg )

“The decade of 1830 had brought great economic hardship in Europe”. Support

the statement with arguments.
OR
“The Ho Chi Minh Trail became advantageous to Vietnamese in the war against
U.S.” Support the statement with arguments.
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AT Steferereen T Seefion & goet 1 el Wik woi Fif 5x1=5

Describe the impact of globalisation on Indian economy with examples.

I e T s iRttt % St Wl st sricen F Gew uE w6 ey 5
T RN |

Why did Mahatma Gandhi relaunch the Civil Disobedience Movement with
great apprehension ? Explain.

WA H e TR % THa Suredd el Wi W e ) e wif 5

Explain any five major problems faced by road transport in India.

WW%W@WWWWW%@%WWWW
ST a1 § 2 IS g 3T G | 1+2+2=5

How can the formal sector loans be made beneficial for poor farmers and
workers ? Suggest any five measures.

TR Tl B YR % o 7 i sur et SR S e i | 5

Suggest and explain any five measures to reform political parties.

E T AW A S F T A o1 g Tenet 89§ 59w
fosTil o1 wTere foren fomrd o3t soereen sxferes i iR poret o w1 A
fed 58 e &1 fageivo Hifey | 5x1=5

3TeqaT
“ﬁﬁmﬁaﬁmﬁmﬁaﬁﬁmﬁwmﬁwmﬁwqﬁwaﬁ
SIS R e 3 e w4 &9 § ewt )’ st afd 59 B @
Tergete wifsr |
“Napoleon had destroyed democracy in France but in the administrative field
he had incorporated revolutionary principles in order to make the whole system
more rational and efficient.” Analyse the statement with arguments.

OR

“The peace negotiations in Geneva followed the division of Vietnam that set in

motion a series of events that turned Vietnam into a battle field.” Analyse the
statement with arguments.





